
MEEG 3013  Quiz #5.m14.072 
 

A beam AD is shown. (a) Determine the reactions A and C at 
supports A and C. (b) Using singularity functions, write the 
equations defining the loading function q, the shear V, and 
bending moment M for the entire beam. (c) Using the equation 
defining M, compute the moment M at x = 4.5 m. 
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Σ =CM+ 0 : 
5 3(160) 1(20) 0yA− + − =       ∴  92yA =        = 92 kN ↑A    1 

 

0 :yF↑+ Σ =  
92 160 20 0yC+ − − =        ∴ 88 kNyC =        88 kN ↑=C    1 

 
 

1 0 092 40 40 4 88 5q x x x x− −= < > − < > + < − > + < − > 1   2 
 

0 1 192 40 40 4 88 5V x x x x= < > − < > + < − > + < − >0    2 
 

1 2 292 20 20 4 88 5M x x x x= < > − < > + < − > + < − 1>    2 
 

At x = 4.5 m, 14 kN mM = ⋅ .   2 


